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Sl el 2 Y (G urde (o A8l (e ued Y=F(X)
IS iy Cua ¢ Joiall paia 54 X
Y af e dadd Baa) 5 Al X af (e el

Qd = f(P.K.R.Y.T)
BT
g slaall A8l i3 Qd
sl Jiai P
ALl daled) s Jiad K
Lodlial daldl ew JS R
Jaall Jisi Y
Gl BS T
Qd=a+ bP+cK+dR +eY + 1T
- Ol s
bl Jiey @
OAlee Ji blcod.er
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drgada Ao (g 45 LS L8 1 dlabead Al Lal Ao 28Nl () 65 A0 )1 alud) Alla 8 Lol A 50
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- Ay Alalad) JS3 Die 330 o) S il 5 Sl Callall A )
Qd=10-1.5P-0.1K+0.3R+0.5Y +0.2T

The Type Of Function Jisal g sl

\-Linear Function 4ail) djal)

Y=a+bx

Depedent variable

- i

Y=a+by

Y-Quadratic Function 4s Al 414

X independent variable Jiiwe jxie
—_ 2 -
Y=a+bx+Cx Linear function

Y =a-bx+Cx?
3-Cubic Function
Y 4
N ”
— 2 X — 2
Y =a-bx+cx Y=a+bx+cx

s



Cubic Function asuasil) djal)

Y

/NN

Y =a+bx+cx2+dx3
Soloution :

Y-Ouadratic Formula _ sl

b +VBTdac

X1,X2= Za

Ex/Find the value of Q from the profit function
T=—-0%+110 — 24
a=-1, b=11, C=-24

[ Ry
—1111! (1132 —a(—1)(—24)

Q: z(—1)

—114+-/121 —26

Ql, Q2= —z

—11+425 -11+5

-2 —2

Q:i=3, Q=8

Soluation :
Y-Substitution Method (e s=ill 45y jla
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Ex/The equilibrium conditions for two market butter and Margarine where
Pb is the price of butter and Pr the Price of Margarine

(o
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8Pb-3Pm=7
-Pb+7Pm=19

Find the value of Pb and Pm use the substitution method
8Pb-3PM=7.......oeeeeeeee, (1)
-Pb+7Pm=19 ..................... (2)
From the (2) equation find the value of Pb
Pb=7Pm-19
Substitute the value of Pb in the equation (1)
8(7Pm-19)-3Pm=7
56Pm-152-3Pm=7
53Pm=159

158
Pm= g5 =
Substite Pm = 3 in either equation (1) or (2)
8Pb-3Pm=7
8Pb-3(3)=7
8Pb=9+7

1a
Pb:; = 2

Pm=3 , Ph=2
Y-Elimination Method «sall 4sy ,h

Ex/The equilibrium conditions for two market butter Margarine where Pb
is the Price of butter and Pm the price of Margarine

8Pb — 3Pm =7
-Pb+7Pm=19
8Pb-3Pm=7

fof
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[-Pb+7Pm=19]8 multiply the equations (2) by 8
8Pb-3Pm=7
-8Pb+56Pm=152

53Pm=159
E
Pm= -4
Pm=3
Substite Pm = 3 in either equation (1) or (2)
8Pb-3Pm=7
8Pb-3(3)=7
8Pb-9=7
8Pb=9+7
8Pb=16

1 &

Pb= 22
=

Pb=2
Pm=3/Pb=2
DAl 4G Hhy Gl Jlsadl da
8Pb-3Pm=7......... (1)
-Pb+7Pm=19............ (2)
Multiply the equation (1) by 7 and the equation (1) by 3
7 (8Pb-3Pm=7)
3(-Pb+7Pm=19)
56Pb-21Pm=49
-3Pb+21Pm=57
53Pb =106
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533

Substitute Pb = 2 in either equation (1) or (2)
8(2)-3Pm=7

16-3Pm=7

YPm=)" -V

_93Pm
3 3

Pm=3
Pb=2/Pm =3

Ex) Geven
2x-4y=-24
9x-3y=-3

Solve the equation using the elimination method and graphically

Graphs of Functiond)sall awy

Graph the following functions:

a) y=1+2x
b) y=3+-x
) y=20-5x
d) y=2-x
y=1+2x

X Y
<=0 Y=1+2(0)=1 0 1
X=1 Y=1+2(1)=3 1 3
X=2 Y=1+2(2)=5 2 5
X=3 Y=1+2(3)=7 3 7
X=4 Y=1+2(4)=9 4 9
X=5 Y=1+2(5)=11 5 11

%




11 7
10 —
9_
g
7_
6~
4 —
3_
7 -

=1+2x

T 1, & 1
}'1333+4EJ§ 6 78910 11
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Y
= 1
=0 y=3+2(0)=3 3
X=1 1 111
X=2 1 212 2
J-—3+3(B——33 33
= 1
X=3 y=3+§8)=4 3 4
X=4 1 1|4 1
3-3+3(4)—43 43
X=5 1 215 2
3-3+3(5}-43 43
= 1
%= y=3+:®=5 |° .
6_
5 7 Y=3+1/3X
4_
3
5
-
X
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X Y
X=0 Y=20-5(0)=20 |0 20
X=1 Y=20-5(1)=15 1 15
X=2 Y=20-5(1)=10 |2 10
=3 Y=20-5(3)=5 3 5
X=4 Y=20-5(4)=0 4 0
20
19
1R
17
16
15
14
3 Y=20-5x
12
11
10
9
R
7
6
s
4
3
2
1
| ; i1
y = 2+ E
X=0 y=2—|—%({]]=2 Y
X=1 1 1 2
y_z+2§1)_12 1
X=2
31—2—;2(2)—11 12
X=3 1
y=2 %(3) =3 1
X=4
y=2- 3 (4)=0 5
0

ek
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3 —
21/2
5
11/2 Y=2-1/2x
1 -
1/ —
2
| | | | |
1 2 3 4 5
Estimation of Linear Equation 4sail) Alslaal) a8
oY) Al e dudadl) Aabeall dalal) daall Gl Wl 5l aal
Y=F(x)
v=axbx

(X) Jiiasall s (y) pial) ad Lal il 51 o (B) ¢ (@) Aa 58 Asbaal) 038 & Jsgnall ()
V) ol sl Can s (8,D) (st gl oAl in Alslaall 8 ale 5 daslae ()5S Le Bile b

NEXV—EXEY

nb= ;

nex?® —(=x)

DO s

Y VX el e 2ae =1
ol sena ey A=¢
X a8 g gene = EX

Y pB g seaa =gy

(Y) € (X) pf cmn Juals £ sane = exY

a»



J-a=y-bx

¥ td
J i
—_ = K
X = —

Ti

doalaid) iyl ) bala

X Dl e & gana £X7

Xopiall ol & sane g e g gane = (X)7

ST
_XM\#@M\L}‘MZJE



Ex) Estimate and graph the following linear equation y=a+bx if given the
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following values for X, y

L V) ail) Cdae ) 1)) Aol Astaal) Gl syl 5 conenl 5 8

Y X
2 1
4 2
2 3
3 4
8 5
7 6
6 7
8 8
7 9
3 10
gy =50 gx = 5b
n=10 ey =50 gx =55
MNEXV—EXEYV
b_h nex? —(sx)
Xy X2
2 1
8 4
6 9
12 16
40 25
42 36
42 49
64 64
63 81
30 100
cxy = 304 cx® = 385
_ 10(309)-(50)(55) _ 34.-? — 041
10(285)-(55)2 825
a=y —bx~

¥
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}1_ = — :5

10

55

a=>5—(0.41)(5.5)
=2.745 ~ 2.8
Y=a+0.41x
y=28+041x
Type of Economical Function 4:auai®y) Jisall g il

V) Individual Demand Function sl <kl &la
Variable aizall Jalall) dme dalus (10 4o sllaall paSl) (0 A8l e jat &
daludl oda e llall Gl 85 jigall &l yaaiall o) Jal g2l (5 ((lepemchex
. ( Indcpendent variable 4&iuall Jal 521l
Astie Jal 52

Qd=(p,p~, 1p7,1,D)
Qd = Aize dalus (10 4y sllaall 408
P= dalulods yrus
P~ = daludl 03] ALl Aalad) yaus
p= = dalud) o3¢d ALeSall dalidl o
| = dalud) o3g] Lanadall (ga il Jaal
T = dalodl o3 ol llgivuall (553
Ex) The demand Function For deep _&ll aal e allall &)y
Qdp=450-10Pb-3-Psh-5Pch+2I
Qdp=Quantity demand of deef _&ll asl e 4 slaall A1l
Pb=Price of beef _adl aal =
Psh=Price of sheep (J:l) aisll aal jes
Pch= Price of chicken ( JaSe 5l Ja) aad jas

| = In come Jaal

o
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Y-The demand Function For tea Wil e llall 4ls
Qdt=a-bpt+b2Pc-b3Ps+b4l
Qdt=Quantity demand of tea

Pt=Price of tea ¢l jau
Pc= Price of coffee (hall) 3 sgdll e
Ps= Price of sugar (aSall) JSudl jau
| = Income JaAl
V)Individual supply Function (g2 &l (ia =l 4l

Jal sl s (ainall alall) Aisaa fialis (e a5 yral el (s 8D} Ly o2
| (Aiid) Jal gall) alodl 038 iage 355l

Os=F(P1, P2, P3, C, T)
Qs= a+b1P1-b2P2+b3Ps+bsc+bsT

Qs=Aime dalu (o a5 jrall sl

P1= dalud) pe

P2= bl daludl yaus

P3= dleSall dalud) yrus

C= daludl o2l LY Ca IS

T=

EX) Supply Function Fo sheep obe¥l e sasall dla
Qs Sh=500-300Psh-200Pc+250Pp+100c

Qssh= Number of sheep heads gl 45 y2all st ¥l 22c
Psh = Price of sheep aixll aal jau

Pc=Price of Caw _&ll =u

Pp= Price of party

C= Cost of sheep alie V) zL) callss

Q4
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Y)Production Function gzl 4l

3 yisal) Jal gall (g Ahima dalis (e Aaiiel) A0S u Aniall A8l e pal (oA
.(Z\_J;\js‘ﬁ\ :J\)A\)Z\;:\JA\Z\%SS\&BL;A

Q=F(x1, X2, X3..euvvnnnen. , Xn)

Q=a+biX1+b2X2+b3X3+. .. +bnXn)

Q= daku (51 (e Aaiiall Bual)

X1... Xn= gl¥) ddee 3 480200 Loy o) Al 3l sall
Ex)Production Function For Wheat Crop akaisl) Ul alla
Qw=350+4X1+6X2+8-5X3+5X4

Qw= Quantity of wheat production Aaisll & Zatidl) 20l
X1=area Df land (=_Y) alus

X2=Quantity of seeds _ sl A4S

X3= quantity of fertilizer slewll 28

X4=hours of labour SsSuall 5 (5 sl Jeall Sle b

AL210) L) ALY 3 ) sall L (5 ja) dpaly ) Jipamy 20V Als (g el Sy g
¥ dlee 8

L=Labour Jasll &lels  Lc=Capital Jel 0l A=area g=aL¥l paic)
G

Q=F(U, L)
Q=a+b, Lc + b2L Uy Al il dagal

¢)Total Cost Function 4! cidlsil) 43

(MM\)@MGEY\M&Q%M\#M\%%M\Qs:J:\,a:j‘;m
_(M“ ‘dAL’J‘)w b elli (e daital \G&Y\Moﬁj

Tc=F (Q)
TC= a+bQ Y Al Lzl ) dxpall
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Te= e alud £ Y CalSs

Q= daludl il ALY 48
el Cal&al) Lol Tlas 250 CallSal (o gl pal CalSal () Ly g

TC = TFC 430 S + TVC 5 e S

a=TFC 4l zluY) Callss

b=TVC s il zlu¥) Callss

Ex) TC =1000 + 75 QC
TC = quantity of Corn ¢ _aall 3 )3l ) Calss
Voo o= TFC = a 43l s

Vo TVC =b b pxie il

¢)Total Revenue Function 4!l cila) ¥ 4l

25 A Al s e Lo Jomnial) e €l V1 s A el 8Nl (e s A
Antiall Aalodl i ) S (5 Ll

TR=F(Q).
TR=a + bq
TR=total revenue 4.l culal Y|

Q= quantity of production 4siiall 4l

Ex) TR = 1500 + 10 Q
TR = Total revenue of ouion Jdeeall 401 culal )
Qo = quantity of onion el (1 Aaiidl 20K

Q¥
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")Total Profits Function A4S zL ¥ 4l
Ot Rt a2 Aglae (yo Lgsle (ol A0I (y g0l 483y ypent (oa
Aol Gl ) 40

n=F(Q)

n=a+bQ

n=total Profits Sl )l

Q=quantity of production zluy) s

Aaiial) ol aa (ge Lle Joaniall 20K clal oY) G G o 0 #L Y1 o)
el Gl il Gl

S p = il )Y TR-TC allss

TR=F(Q)

IT=F(Q)

Ex)Given TR= 1500+10Q0 and TC=300+200 Find profits Function

of onion ?

A1 as 518 Aalil CallSE Al 5 Jeaddl J grmnal 3000 2SN Clal 1 Als Culae ) o

J smncall A< L Y
m0=TRo-TCo
=1500+10Q0-(300+2Q0)
=1500+10Q0-300-2Q0
7 0=1200+8Q0

V)Consumption Function &Sgiay) a)s

e Cagyaall J2all (s Asaa Rl (e ASgunall AaaSl) (s Tyl A8l (e s o

Cdalid) Gl o) )3
C =F(I)
C=+bl
C=Consumption dima dalu el
I=Income Axlull o) Hil o ynall Jaall
b= <Dl nga;\\ Jaadl
Ex)Ct=0.3+0.51t
Ct=consumption of Tomate 4hlakll (1 ASIgihunall 4asl)
It= Income of Tomato = dkluall ¢ il Ca g yeall J2a)

MSaving Function _aa¥) dla
can il JAa s JWd) (e Aee A€ HA) G a Hhall A8 e juat 8
A
S=F(1)
S=-a+bl HlraY) dlal Lralal) Lapall

S=saving _aall 48l
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I= Income Al Jas s
b= L“SJAJ\ Jaadl
Ex) S=-24+0.41

VInvestment Function _iiuy! aly
U & 5 e QL) el 3 gl e allal) Ally o) dgamil) A gl Allay Lay) el
30l e (g g HlatinSl Bamall 35880 AaS G AanSal) A8l e jumd A 9 ¢ (pza
b el e A g il
In=F(V)
In=a-10V
In=investment of Money iyl (i jal 258l e Gllall
r=rate of interest (interest rate) sxlall j=.
ex) in=15-0.7r

O5S0s B8V saall g Jaddl (G 48l 1) 450 50 Jla g aiiasall lad Jue : dial) Slop
Al 8 i) yuaial) &l s Al 0SS Jle i gy can e sl b Wl Jaall 13
ole i) uridl sl o andiy sasenl) Jaal ol 1 s Al

:L"SJL.LEQSA:\Q.JM‘M‘JU:\JO\S \.Jléﬁ;jé\ﬁ\ BETOAl

Qd=10-2P

change in quantity  AQ

E =
Sop change in Price AP

Q

Qd=10-2P
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p [0-2p Q T 1)
1 10-2(1) 8
2 10-2(2) 6
3 10-2(3) 4
4 10-2(4) 2
. B0 _6-8_—2
SOP=ApT2-17 1 T
C=24+0.3y
C= <Dyl
Y1=daal

203y ABe iy Jaall G A8l 5 Ca e Jual

Baaliaall ol yuriall & Al Gl yuaiall 45 jleal Jlaidy) gg\_aj),d\ oolata PRESI Jaiill
Al Ba aadi g et ) jueiadl  pedl) dady daliag CL'" L:A 4 sl u\.yﬁ\)
()

_ Percentage Change in quantity

Percentage Change in Price

V-Demand Elasticity &_sud) alhall 455 5

Pd — Perntage change in quantity demand

Percentage change in Price
AQD
Ed=—r+
3
AQd  ap
Q "p
AQd P
Ed=i.—
AP @
ala) Aol Al e llall oo gaal g Alla 8 e Lo dudla Ladla (585 allall 455 50

(e A3
Ex)Find demand elasticity Demand the demand equation when P=2

P=25-0.50
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AQd
Ed=2%F
AP @
Q s z i odlel Al &
0_25 P
05 05

2
Ed = (—0.5)— = —0.09
(=0.5) 75

Ex)Find Demand elasticity the demand equastion when P = 2
21=10-2P

AQd P
2Q=10-2P

B 10 P

22
Q=5-P
Q=5-2=3

Ed = 1(2)— .
= 3)=

12=3Q+0.5P
12 05

3 3
Q=4-0.167

AQ P

Ed =75

AQ
— = —0.167
Ad

Ed = —D.lﬁ?%}

Q=4-0.167(2)=4-0.332=3.67



2
Ed = —-0.167 (

dualatd) cilualy ) Bala

)= —0.09

Supply Elasticity (= 435 s

dimgpmall Apall & sl gl

Es

__ Percentage change in quantity Supply

Percentage change in price

T APQ

el ?Jf?l. All !.3".11

el g g ymall A (s A Tall 350D s g Ll g pall A1 Je

Ex)Find the supply elasticity from the following equations when P=10

1. P=8+0.4Q
2. 7=3P-0.5Q
3. -15=2Q-4P

1.P=8+0.4Q

_il.Qs P

AP O
0.4Q=-8+P

g 1

Q=—+—P

0.4 04

Q=-20+2.5P
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Q=-20+2.5(10)
=-20+25=5

2)0.5=3P-7
0.5Q=-7+3P
7 3

C=o5"0s"

Q=-14+6P
Qs=-14+(6x10)=-14+60=44

_ae p
TAPQ

—3(10)—30—{]68
T \44) 44 T

Es

3)2Q=-15+4P
Q — __15 + L_l- P
2 2
—15 4

=7 *1¢

Q=-75+2P
Q =7.5+2(10)
Q=-75+2(10)=125Q =125

_ AQsP

E__
"TAP Q

125) 125
=20 _ 16
"=125
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¥)Income Elasticity 4:lalu qhl) 459 4a

)

E:i:‘lj'_':?;‘I:I'_-:l'r_‘l:"':;l Ay
Y1y =% ° vy Qe  w
'

Geven axlu & gaa) gdlla & lae Lo aa ga (S5 Jaall

¢-Cross demand elasticity 4wl cullall 455 4

AQ P

E=—.—
AP @

P=Substitves Price Ll alull jlxul
Or complements Price ileSall aludl jlasd

b il oladl dal (e i slaall AueSl Aol Alaind) dadaliiall llall &g e Jicd
L) 0¥ g (05K (Redliall) Aladl aludl Alla 8 el AL ) ALl oLl e
el (e 483 Jpms ellgtnd o) am A slladll Bl 333 ) (9255 ALl oludl e
OS5 Allal) o3 8 sl ) AunLalil) 455 yalls Gl AL Zalull L) adi el ] i3
Ak o QLI Al gyl G (s ol (oS AL L) Al 8 L) s 5o
Gllall e Gidia S e QLIS 5 Al dale o il g e calla Y Luls 5l 3l

LAY Al i e (g AL Al (e il dadial) ) Cam ) D6 e

Ex)Find the demand elasticity income elasticity and cross elasticity from

this function if
P1=10/P2=5/y=100
Q=10P1-0.2P2+0.05y

Agd P
Ed=-"%2Z
AP @

AQ v
EI:—_”—
Y Ay @

_hQ R
AP2'Q

Q=10-10-0.2(5)+0.05(100)
Q=4
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10
Ed=—1 (T) =25

100

E = —{].ZG) — —0.25 ileSa dall

eS¢ ) 58 Lanie (3 gual) (8 () 680 (B3 ¢ 85l ) 55 Market Equilibrium

S s 8 Lgle
Q
S
QL | N

O sill dpas |
|
|

S | D
|
|

P

Ol e Pl

Ll Lasll 5 i5all ol gall aea il (i dalie V) adull Alls b
alhal) Aalae Lica il 138 Q1 43Sl 028 o) i 8 (s O sSlgianall ()5S0 5 daaS sl 2L

Qd=10-2P.......... 1)

Qs=-5+3P............. (2) sl Aalas
&y sllaall 4380 Qd = Qs A 5 el Aol
10-2P=-5+3P
10+5=2P+3P
15=5P
P="

=Y o))l s Priceequilibrium

g
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Cithlaall (gaa) AP dad e (gl

Qd=10-2(3)=4

Quantity Equilibrium=Q =4

iy Yx () Aabaall PX()) Aslaall (o puimi Cadal) 48 ph o (5 A 48l Ja3 o (S g
3Qd=30-6P

2Qs=-10+6P

5Q=20

Q=22 =4 o) sl As

el (53a) (8 Q=4 (el
4=5+3P
4+5=3P
9=3P

P=3 oJ)lsi saw

Shifts of Demand of supply Curves allall 5 (i jall Gt Jal

4 sllaall el 83 el Jal sall paes Gl (o yias callall 5 (ja el Cliinie au ) 2ic
O sl s dimd Tt el g dpeSll (G AR (el () (ol el oL dia g yrall
oSally ) I Gpad) (g i) QU D) sa I U ALlS Wiyl i) Jal gall
Jeiadll paiall g 53 sanl) saall e aainall uiall gy il IS Aol Jiias vind
e el g adine ypiia la el (50 el ) gaall e dpaSll oS5 Sy AV ) sadll (e
O Lo g Allall GuSe vie uSall Jeany () Sy OS]y Jse iie o jliicly 38Y) ) gl

ol A1l Al sl ka3l e i Y ANl Ll

L i) o 3ally Jeany adll
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Shifts of Demand Curve —lall Jsie Jlssl-)

Qd=10-5P+0.2y200
YIS S5 s A slaal) BaSH (G ABMaD) (6 (Y ¢ ) (s sisall ie sy J2 IS 13

Qd=10-5P+0.2(200)
Qd=10-5P+40
Qad=50-5P
O8I allall Aalas 3as g ¥o o I J2al o) 5 12
Qd=10-5P+0.2(300)
Qd=10-5P+60
Qd=70-5P

SV sl cnal) bl e llall inie JE Bas g FoooYon e JAa i) Ladie
L Jaall Galias) dlls i Sally

Q

70

50 Qd=70-5P

Qd=50-5P
Qd=70-5P
Qd=50-5P
5P=50-Qd
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p_50 1.,
"5 5

P=10-0.2Qd

Yoo =Jaa oS 1a s 8
Qd=70-5P
5P=70-Qd

p 70 1.,
5 5

P=14-0.2Qd Fooo=Jaal g Al i

15

P=14-0.2Qd

0 P=10-0.2Qd

Shifts of Supply Curve s =l st Jal-Y
YK G gl Aol G s Al GulSad) die (2a el s slad) iy
Q5=-6+3P 4y ypall = B Jd

iz 13 5 3 5800 Lol Sy (T) s 3aad 532 5 JSI(T) (o Gl e 4y uia Causa j4 D14
Bsmd) ras () saliney Lail Aalill (e Aelia Baa g ISV @ suall r s | salivg a1 Guadld) O
sam s S (myadl s (8 130 Ao Lia am 5 (S e e shaall Ay yumll 4le g shae (P)

oy
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Q3=-6+3P

Q3=-12+3P

s i 33n 5 (Y) (gsbust A pall (T) ilS 1 (P-T) (Gl Oaitall dnily ¢ sSm
(IS sl G all

Qs=-6+3(P-2)
Qs-6+3P-6
Qs=-12+3P

Jany) I Jiiy gl A ) Jrdy cpadd) (1 Jiiy (oa jedl s o)) ey 138

Non Linear equilibrium bl g ¢ gl
Jiasi llall g el sy o) ol Al a0l e A (a Gadl G A Gl i il
Jagih Gilats b Gladalily (i gl g allall s o)) @lly ey g 4001 daall e @Y alaa
O Ay Bsall (8 calla Ay Lal il 136 palail irae gl Led Gad (Y ALl )
A Ally el Alag (A pe) Al s )
Qd=g-p
Qs=-3+4P
Qd=Qs uil sl axe
Q-Py:-\’“—i-iP

P,+4P-12=0



dalatd) clualy  3ala

OIS Jrw o dians (K1 (P) 525 aaly juxie audal saal g dalas o Jsand) Jglas
ot llia Tt Al e Alslaal 038 S5 o) 5 Bue
sl ¥ - el I s
1-(P+6)(P-2)=0
P=-6 Jegd
p=2
P=2 (= all Ahlas 8 (a2 5
Q=-3+4(2)
=-3+8=5
V=P ()5l jrs
0=Q O sl 43S

_ btvb*-4-ac
2a

2-x

Po+4P-12=0

p_ThE V42 —4()(-12)
B 2(1)
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Qd=9-P2 P Qs=-3+4P
9 0 3

8 1 1

5 2 5

0 3 9

-7 4 13

O sl Ans
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Use of devirative in Economic L@y 2 ciliidal) afadiu)
Qd=a-b1p1+b2p2-bsps+bal
aj\.ci&_ﬂﬂ \d&\.&aw&lm'" @J\C\ph b S

Z{Qd _ _bl el X... 'SL) Al dEny
[ZEN

05 _ 4 h, Alad) bl e dally AN A

Py

jgd:-bs ALl aled) pmaad sl A1) Rdiie
2

% = +b, Jaall Lually A1) dside

Drive the following Demand Function and explaining

Qd=450-10P1+3P,-5P3+2|

dQd dQd _dQd dQd
Qd __jpd@d_qded_ dod_,
dp, 25 dp, dl
ullal) 4d)a ABidia ()
K (-\.:pl)a,ggo\q;fd=—10L5m)uxwgum\a§mﬁm
: o ;

OSally (Shans V+) e Ji5 A laall Al 8 Banl g Baas ey 5L e 313 L
Y0} s 31355 G gas A sllaal) BuaSll (d Banl 5 Ban g lias LA o iaddd) 13 s

ALy Adjal) dlidia yaedi( Y

dQd
dP,

ngl.a..d\WJ\JLA\J\(V)é}\wjgm@mméjﬁj@\)m}%(Pz)u\ﬁ_\.\A
e (pSall 5 (Dlas 5 7)) latay 31 35 8 g 3 g8l (e 4 glhaal) dpasl) 8 2l g Ly Hlaag
¥) Dlaiay J85 8 g 5 g8l (e A gllaal) AaSl) (l Bas) g Bas g jlatay LA s (méds) 1)

(Q\JA}

+3

ALee e 5 5 Sl e dolly iy sllacl) 0uS) A (T

r
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dQd

-5

dp;

Ll yru (e Ao sllaall AnaSl) 8 Basl g Bas g platay HSAdl e o)) L 1) (-0) S8
Baal g Ban g platay Sl m ddl) 1) asaa (Sl g (Qilas g ©) latay (adAT Clgu
C(Dlan g o) Hlaiay 2o 3 o (LA g Ay gllaal) AaSl) ol

JAA) Al Aiida s ¢

dod
I

2

LA (e A gllaall pasl) 8 Baa) g Bas g Hlatay 38N JAd 215 L 1A ey (V) Q80

L) Ay i
Q=a+bix1+b2xo+bsXs+.. . bnXn
Or
Q=F(K.L)
K= Juwll Ll Capital
L= Jall Labore
Q=Production %Y/

Average Production AP zliY! L sie-|
Y 3 sall Glan g e e dimae dalu e Aadial)l Al dand Juals e 3 e oo
Aalud) el # L) dglee A addiudl)

Qi) i

AP =

Xn 2 bieall oy gall il aoe

Marginal Production mp sl zslill-

y
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ol A (Glall gl 33l ) Alma dalu (pe Aadiall Sl Jualaldl il e 3 jle oo
B3l g Bas g Hlaay ApaliiV) dolaal) 8 addiiall alBY) 3 ) gall Cilaa g 2ae ol 4S8
) Al Saie Jae ey dpaly Hl Aalill (e ol il

dQ
MP = —
dxn

LY A0 e 8 (3 (san) s Aisee A vie AU e Jhas Jul ) Lass
Ex) Qw=350+4X1+6X>+8.5X3+5X4
Qw= dkaiall £l £
X1= de 5 5 3al Al
X2= sl das
X3= audl dgas
XAz Jasdl el

AFIl_g SO+4x, +6X, +8.5x5+5% 5,
= -

350
— i 4+62 4852 452
Xy X1 X1 Xy

350+ 4X, +6X, +8.5X, +5X,

APX, = S
2

—350+4 +6+85 +5
X, X, X, Xz

350+ 4X, +6X, +8.5X, +5X,
X;

APX, =

=22 445 622 485+5%

X3 Xa Rt A3

350+4X, +6X, +8.5K5 455,

APX,=

=

APX —35B+4X+6X +85 245
X, X, X, X,

Al 3 AV 3 gall Al Z LYY o sia o) jaial (S 1388

iy
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) 8 A0 L) 3 ) pall Al gonll il ) 3%l (e 1S

mpx, = 29W
odX,
MPX‘L = 4
dQw
PX, = =85
T dX,
dQw
MpX, = =5
DAy X,

Ex)Given the following production Function
Q=36KL-2K?2-3L?

Find the Marginal Production of capital (K) and marginal Production of
labour (L)

dQ
MP, = —
kT dK

=36L-4K

dQ
dL

MPL=36K-6L

36KL— 2K* —3L*
Pﬁ: == K

MPL =

—36L-2K-3%
K

_ 36KL—2K* 317
N L

APL

APL = 36K — 2“{-3L
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Derivative of Costs adlsall alla culsidia
TC :\-‘ELJJ\SE:TFC huu_d& +TVC 3 2 LJ._.\J\SJ

TC=a+bQ
Fixed Cost 4w
Variable Cost & e

Al & (o iyl ol il o) gas griiall Lgndy il GG gl ) )l a5 3 AN Cidlaal
Al Aleally agi 3 Y ) il

O sl Y Llasy i 55 A ) sV @l o 55 pileal) CallSilly i 3 3 piial) i)
Al dleadl o 58 Ledie iiall Lgady

2 Ol A1)

Average Total Cost ATC 4l callsil) Jas sia, )

ATC = re
Q
Average Variable Cost AVC & jiall cadl<l) Lo gia ¥
Ave =25
T Q

Marginal Cost ~ MC 4l calidl)

Baas ey Aima dalu 8 Aaiall GueSl il Aas AN Gl b a0 5 le A
| (Sl 1 ASida) Callall Al iaie Jae Jia by )l Zualil) (pe dsaall 28I 5 3aa)

MC_dTC_
=20 =

MC_&TC
=10



TC=a+bQ

dTC
dQ

- dTC

-0

dualatd) cilualy ) Bala

5 _puaciall Gl Jas o Jah SISl CalSall 3 yuas Jias dgaall CallSall Y

Ex) If TC =23+ 70 + Q?

Find derivatives of this function ?

ATC = rc
Q
23+70+0°
= 0 Average Total Cost
AFC — TFC 23
e @
TVC 7Q+ Q°
AVC = = ere
Q Q
7+
= w =7+ Q Average Variable Cost
dTC .
MC =——=7+20Q Marginal Cos
dqQ
C— dTVC
=40
dTFC 7
a0 ero

Ex)Find the Marginal and Average function from the following total cost

function and then evaluat at

=3 and O=5 cual g 3 ¢ AN Call<al A e Aase giall g duaall 28I s aa gl
Q Q =% o R 54 9

Ak
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1-TC=3Q*+7Q+12

2—TC=35+5Q+2Q*+2Q?

1 ATC—TC
Q
_SQE+?Q+12_3(3)2+?(3]—|—12_6D_20
= 0 = 3 =5 =
When Q=5
3(5)*
ATC = ICJ4_:"(5]_|_12=24.4
5

MM —dTC—6{]+?

c-dQ—

Q=3 MC=6(3) + 7 =25
Q=5 MC=6(5) + 7 = 37

Revenue Function 4l cua) ¥ adla ciliidia

Juan Al Y1 S s (g il Ll om0 dliall oo 3lie (oo 1 2SI ol )
Lol G s (5 5 e e Axls (30 Lo

R=Q.P

TR=a+bQ

Q= 42l

P= el

ATR S 3190 Jaws sia

S ol = TR @lal Y1 - TC sl

Marginal Revenue =) al )

s



. ATR . dTR

MR

T Ag dg

dualatd) cilualy ) Bala

Ex) if TR= 750 — 4Q? Find the Average total Revenue and Marginal

Revenue
TR

ATR = —
Q

_ 750-4Q@*-4@® _ (75-4¢)
Q Q

=75 — 4Q
_ dTR
-

MR=75 -8Q

MR

Ex) If geven the demand function P=30-2Q Find the average and Marginal

revenue function at Q=4 and Q=5

ATR = IR
Q

TR = ATR.Q  ATR = Piuldisng a.

TR=P.Q
TR =(30—2Q)Q

TR = 30Q — 202
ATR =W=30—2@

ATRatQ=4 30-2(4) =22
ATRatQ=5 30-2(5)=20

MR=2%
dQ

=30-4Q



MR at Q=4 30-4(4) = 14
MR at Q=5 30-4(5) = 10

mn=TR—-TC

A = AN A ) A Al
m=a+bQ

dn _
d@
EX) m =1200—8Q

b

dm

— =8
dQ

1=TR-TC

dn _dTR dTC

dQ dQ dQ

arR MR caall 3,34 dTc M Cézaall 22k
— = gl Ayl —— = dgaall 420
dQ S FTo) *

Ex) TR=75Q+4Q?

o odm
TC=30°+70Q0+ 12 Find E

MR =75—-80
MC=6Q+7

dm
E=?5—SQ—(6Q+?)

=75-8Q-6Q-7

dualatd) cilualy ) Bala

Profit Function g 4l diida
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dmr

4= 7580~ (60+7)
=75-8Q-6Q-7

I _ 6814

a0 %%~ Q

(S omall s (calaad)l Cililgal) slagl ) Aal) 455 5 adans)
Maximization & Minimization of Function
O s s euay ddasill 028 q;lsdyggd@q\ S el A daay Ladie Ala isia sl )
leboay o)) OSar e o) o) ol coloen die A Gl 1) Aalill e A1) dide ey Jaall
@hhtﬁ\um:dbg;\‘;u_m
el Al s jiall we Ll glse s AW 1 gW) i) ) 3l )
Ay A Ao jal) Adadil) g Al b Al Lgiagd CalS 1318 Adlall Al dGidall &) Al Y
Agidall dad CilS 1)) uSallyy abie Ales Al o oY) AL (e Lgle Jgeanll
e Ak o oY) dEad) e Lggle Jsmnll il da sl dlaiill b Ao e 4Ll
LS
Y=F(X) Al aalanil dpilly

d I
d—y =0 deasedld Critical Value
X

For are lative Maximum

dZy - - .

— il 408

oz 70 4 A

And for arelative minimum : 4l 4.3
dy

— =0 dajall 3Ll sy

dx
d*y : .
Ec:: 0 iall (e S

v F SIS ra g1 Alall s )l




dualatd) cilualy ) Bala

alie (S @iy (F, B) adaiill aie (45 ye ad ddaii o) ) Jia s 38 syl DA (g0 a3
(D) 4 ddass (ol isiall 138 Jum g 285 cpibalil) (pila Wadie |t (g by (Y 4diaal))
oy Wl el A1) 02 iniall Qe ) Jaa Dl LaS Adaiil) 238 ie | jiia alie sy elliy

e o) T DU Laiy A1) adae 40 Lkt Laa (ppidail) (yilay (o)) e Al (F, B) (psidasil

6 yiaa Al Adas Jiad Adadil] o2 () iy Las (D) Aoiail) A1 dmy s 5o ranal A1) 038
- adlall s3]

Ex) Given : TC = 31 + 24 Q-5.5Q,=> Q°

Find The Yelative minimum or Maximum From a total Cost Function .

SIS oLl A1y g piaall o) ataall Flgill aa )

L_AJY\MM%:‘ Jass )

dTC
dQ
dTC—Z-ﬂ} 110+ Q% =0
dQ B
(@-8)(Q@-3)=0
Q=8, Q=3
Q=8 , Q=3 af (e L pei s Al Al 32l
dETC— 11+ 2Q
dQ?
dTC
a—|—Q=8sz=—11+2( )=5=0(+)
Q=8 Lavic L dlls & AN = Minimum
d?TC
tQ=3 =—-11+2(3)=-5<0(—
at 102 (3) (—)

Q=3 Laic alaaidlla A4 : Maximum

%
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CHila (i ga (AeY) S wie (g ada o) ) o) IS 6IK) el ) ja5uY Ll
Al K Al oyl

1
Q=8 TC=31+24(8)—5.5(8)? —|—§ (8)*=41.6

Q=3 TC=31+24(3)-55(3)* +-(3) = 625
TC

62.5

416 [ ------ 1

ex) Maximaiza following total revenue and total Profi functions:
1-TR=32Q-Q?
2-1=-Qr+11Q-24

1-TR=32Q-Q?

dTR—n 32—-20=0
dQ N

<O () Al e B 8 )

TIR 2«0 oebie dlei 0585 Q=16 0sSi Lotie

¥
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Q =2 = 16 4a yal) dkadll

3
2
Ex)Prove hat total revenue is maximized for alinear demand function

P=a-bQ at point where Q = ;—b a, b is plas constants
Ladie dyladll callall A1y 8 L ddads o Juaiy abaadl Lgidles &SI o) 5000 Ay o s

a

°=2

TR=P.Q

P=a-bQ
TR=(a-hQ)Q=aQ-bQ?
E = MR el 3,
dQ@ g

MR=a-2bQ=0

a
Q = -~ 4l dli

2b

S Ladie alaall Lgiled 8 rUisY) AuaS () 5SS

ZUEYI e Aaiill 038 i (56 Le el 2l V) 3es Liayl S5

Ex) Prove that Marginal cost (MC) Must equal marginal revenue (MR) at
the profit minimizing level of out put .

ol alany (53l alae Y 7Y (5 sl die ganl) 2 Y1 = aall Gl o el
/ Jd)
= F(Q)
m=TR—-TC

e
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dn dTR dTC

dQ  dQ doQ
M _ MR- MC =0
dQ N
MR=MC

Use the MR=MC condition derived in above example to find the critical
values of which profit will be maximized when :

Faall il s gl oMol (e AiLial daal) 26SH = (saal) 21 ¥ MC = MR s alasinls
YIS IS S 5 KU 31,0 il S 130 g s s el lasie a1

TR = 450 — 0.502
TC = Q3 —39.5Q%+ 120Q + 125

MR=MC
MR—dTR—45 Q
=20 =
MC—dTC—SQE 79Q + 120
=30 ~

45-Q=3Q2-79Q+120
-3Q2+78Q-75=0

(A oal) Llaall) Q Al 1 Al 4y jail) 44y e andius
(3Q-3) (-Q+25)=0
3Q-3=0 Q=1
-Q+25=>Q=25
W lasie sy Al ZLoY) abaed ) sl o (YOO)) GiineSll ilh (e (gl 48 padl
& Oiesll la mgad o8 (e g MR=MC oy 4000 d8iial) = jatud Casw s el

ol LaS 5 Al Al

d?m

d—IQEZ—ﬁQ—F?S

4



2

A0=1=>L"_ 601)+78
1> -

=72>0

ATQ=25 j; — —6(25)+ 78

2

=-72<0

dualatd) cilualy ) Bala

b Al 8l S (2B 4aeS) Q=25 (5SS Ladie

: Matrix 48 siaal)

ujmdsaécm)m}d\el\&d\ j\ U_\\‘):\z_mj‘ ‘5\ J‘AG‘}!‘UA&C)AM&@JL\C ZAM\
3 Dimensions 4é siaall alaly 48 gdinall 3aac) s staiall e ey dadatia Baec)
ihon Cleatiall 48 shoadl ¢ oS3y saeY) 220 o gheall e adl Cuay A ghoad) da )
< > 5 [ ] omesd AN de sage Column vectors 4 see s A1 s Row Vectors

ex)A=1[ay; a;; a3z ] 13

A=[325] 1,

a4
a;,

3

3
&
513 —1

A_[a’ll ‘312]
Ay Qq2] 27

Ex) B=

3—-1

A:[; i 22



dalai®) clualy ) 3ala

Yo¥ A (e A g

Square Matrix 4z jll 44 gaiaqll

t Jie 3aae ) 23e ae Cashiall axe Led (g bty ) A8 siadll o
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Identify Matrix 33 sl 48 siuaa

Lol a5 (g sbad (ot ll Hhadll (o Gl 5 Led () 5S35 dal JS o je Cishian (0 Bl (A
umw&wgu@ﬂﬂﬁbhw\o& UA\PUAJJ\A.»A\‘;}M‘\:\SM\?.\SM
BJ;}S\E\AMXJA‘)J})&Y;&M\ML}ELJM\j\eLA‘)“UA;‘JM@MMQ_\:\AUA
Asiadl aaa JIn coall il Gas I el
1 0 0
=0 1 0
3-3

0 0 1

,|2:[é 2 2-2

Diagonal Mztrix 4 kil 43 siaal)
+ Jin ) st ) Bl Lo Ry i) ol qaen (3550 o K shas 05

3 00
Is=|0 2 0
3—-3

0 0 5

,|2:[g g -2

Upper Traingular Matrix Ll 4t 43 siaal)
a5l Ll Juad Axd) gl pualind) i Lud (5 585 il Any el 48 gl o
3 5 7
A=|0 2 3|, 6 A=
0 0 0
Lower Traingular Matrix (Aawd) 4l 48 s asll
Sl a5l Sl o) a8l gl pualinl il Lesh (5S35 ) dny yall 8 giumall o
1 0 0
A=|-2 5 0

4 2 3

Null Matrix 4 iall 43 siaall

3 Lga) ¢ 46 shaaall o3a (ol 53 (e Jlinal Un alic san ()55 (il 4d sieadl) 0
@3 A A siian (5h g i () LS L Lol I (g0 Y A8 shian S (5] (e gk

g il ) e enl)
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:[g g 2.2

>
1
o
o
o

=
=
=
—

I
==
oo
——]
o
[

Trans pose Matrix 44 siuaall {11

ol s Cishia GV sae¥ls saac) ) Agheadl Jysad (e Aadll) G gheadl s
ok LS A 2 ghad) Ll culS 138 ¢ (AL AT) A 4 siadl

12 1
A3
Do LS i€ Ll
_[2 3
A 1 4
48 gaall Adase A XS
2 1 =3
A=|3 1 2
1 -1 3
2 3 1
A=l1 1 -1
-3 2 3
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Determinant 3asxl)

st phadll palie e e A3l Al o (YY) 40U 48 shiaall donilly 22l
s b Lt sl Ay @ sl Hhall jalic (g e dadlil) dadll gie s jlae
. e (5 g Laoase dagd (8 53LAY 48 ghiaal) Ile dry pall i siiandll

) Caall clicliae (e Lgitae) ) Ledgin aa) (5 il 4 sheadll o :33LED 43 giuaal)

1 2
2 4

(0WY 44y k) alladl Jall 48 oy Lal 2 A aasall dad o 4500 4d sheadl) Ala L
Ju\u@gﬁu\agsut@yugu\):S\Jgﬂeu\dg\:@gﬁd\”@_masﬁﬁj\

Ex) Find the determinant of this matrix
_[2 -2

A=y 5

|[A| =(3Xx5)—2x4=-15—8=23=0

=3 4

s

|Bl=() x£&)—(YxY) = ¢ - £=+ 33Li 44 ghiaa
Ex)Find the determinant of this Matrix

2 3 0
A=1 0 2
0 1 3

1Al =2[(0%X 3)— (2x 1)]—3[(1x3)— (2X 0]+ 0[(1X 1) — (0 X 0)]
=2(-2)-3(3-0)+0=-4-9=-13#0

e csiadl Fgadl 1 (4,0 ) Ol s) O 2 seadl ABLaly iyl 038 (il : agas) A2y
Jala g s C\J;lw\_x e)ﬂeﬁ"&my‘w‘\:\jm QQM&;&L&M\@&BM\
i ol ¢ sana Ata 2 sy DU At ) LY o Al ) peiall i

A il U] e Gadl gl jualiall
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1 =2 2
A=0 1 2
2 3 1

1 -2 2|1 =2

|A| = 1 3|0 1

2 3 112 3

=[(Ix1x1)+(-2x3%2)+(2x0%x3)]-[(2x1x2)+(3%x3x1)+(1x0x%2)]=-24
Adjoint Matrix Kﬁéud\ 48 siaall

L;\LJ\ ksl yalic o)\.m\ d g );‘}[\dumh\

Ex) Find the Adjoint Matrix

A5 4 A 5]

Inverse Matrix 43 stadll (u sSao*
A 1—— AdjA

Ex) Find the inverse Matrix

1 3

A== 5

A'l=>- AdjA

IAI=[(1X2)]—[3X —-2)]=2+6=8

AdjA=[ _13]
2 -3
waf 9| 1]
3 2

Gramer's Rule calaasall 43, jla )y oy S 44 )k

o= 3 L=
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X+2y =4

Gramer's Rule = Jall 4ay )k

e (5 sban Y 436K ST 5 | 4] 2ol A 2 A

o

|A|=(3%2)-(-2x1)=6+2=820
3 ganl) Lol Aallaall 50 andl) 3 gac 4dd J g¥) 2 ganl) Jiay 53 5 [ 4] 22aall dad  jA00Y
4] = |i _22| _(4X2)—2%X4-8+8=16

3 sandl Lol ekl wil) 4 S 3 gandl Sy 5305 [ A] 23mal) Had o st R yLall i 5T

3 4| _
1 4

la | g2

|A2|=| (3x4)—(4x1)=8

Y=@=E=1
2

la |
X=2 , y=1

Ex) The equilibrium condition for two related Marlets (chicken and
beef) are given by :

6X1+5X>=49
3X1+4X,=32
Using Gramerts rule

AX=B
5 3] =[
|4 |=(6x4)—(5x3)=9

49 5

|A1|:|32 4

|=(_49><4)—(5 x 32) = 36
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6 49
3 32

14,1 _36

14,] = | |=(6x32)— (49x 3) =45

=2 _4

la | 9

Xi1=

w,olazl _s5_g

la | 9

Ex)The equilibrium Condition for two substitute goods is given by:
5P-2P>=15

-P,+8P,=16

Find the equilibrium price using (inverse Matrix)

A= AdjA

Ax=B

% el

|A] = (5% 8)—1X —2=40—2 =38

P

P, :[15

16

e .. . g8 1 . 8 2
WA | C= =
4| yall 48 ganall C - AdjA -
4+ 1
-1 21_|18 19
A BETRA] 5]_ 1 i‘
12 38
AX=B
X==

2 1 60+16
19 19 [15 —| 1 |_ [ 4 ]
1 s |16 15+80 75
3z 38 as

P1=4/P,=2.5



